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Pre Calculus 11: HW Section 8.2

1. Solve sach system by using elimination:
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2. The lines with equations px+ 3y = [ Sand 6x + gy = 30 pass through the point (4,-3). What is the value of
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3. Line "A” passas through the points (3,0) and (-9,9) and line "B” passes through the points (-5,0) and (4,6)

‘What is the intersection point between lines “A* and
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4. The fellowing system has (5,-3) as a solution. What are the values of “a" and “B"7?
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5. Inthe diagram, “V* is the vertex of the parabela with equatiens = —x* +4x+1 . Points “A* and “B" are
Intersections between the parabola and the line v o I . Find the distance from peint A" to “8".

5|

O =x"=s7%
0=x(x-5)

X=9 (5]
G-V ==

V= sTe]

6. Thelines b+ =30 and x4 by = ¢ Intersect at the point P(6,12), detarmine the value of “c*:
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7. Datermina all ordered pairs {xy) that satisfy the following system of equations:
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8 M (x+1){x—1)=8 , then what is the value of ( +* +1){x* — )
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9. Theline v = 2x+ 2 Intersects the parabola v = x° ~ 3x + ¢ at two points. One of these points is {1,4).
Deterrmnine the coordinates of the second paint of intersection.
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